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@m 1 vessel bottom head(TE-263-69L1) o
2 vessel bottom head(TE-263-69L2) O
3 vessel bottom head(TE-263-69L3) —
4 JEF14F skirt joint - #(TE-263-69H1) [e]
5 JE+IF skirt joint - #(TE-263-69H2) —_
6 JE1F skirt joint Fii(TE-263-69H3) o]
7 vessel down (TE-263-69G1) —
8 vessel down commer(TE-263-69G2) [0}
9 vessel down (TE-263-69G3) o
10 |HVH-12A return air(TE-1625A) o
11 |HVH-12B retum airf{TE-1625B) o
12 |HVH-12C retum airf{TE-1625C) o
13 | HVH-12D return air(TE-1625D) o}
14 | HVH-12E return air(TE-1625E) o
15 | HVH-12A supply air(TE-1625F) o
16 | HVH-12B supply airfTE-1623G) O
17 | HVH-12C supply airfTE-1625H) o
18 | HVH-12D supply air(TE-1625]) o}
19 | HVH-12E supply air{TE-1625K) O
20 | PCV IBFL(TE-1625T5) (o]
21 PCV iR EE(TE-1625T7) (o]
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= RETURN AIR DRYWELL COOLER(TE-16-1148) °C
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======" SUPPLY AIR D/W COOLER HVH2-16A(TE-16-114F#1) C
=== SUPPLY AIR D/W COOLER HVH2-16C(TE~16-114H#2) ‘C
==0== SUPPLY AIR D/W COOLER HVH2-16E(TE-16-114K#2) °C
e PCVISE (TE-16-008) °C

1 vessel bottom head (TE-2-3-69L1) —
2 vessel bottom head (TE-2-3-691.2) —
3 vessel bottom head (TE-2-3-69L3) —
4 vessel bottom above skirt jet (TE-2-3-69F1) —
5 vessel bottom above skirt jet (TE-2-3-69F2) —
6 vessel bottom above skirt jet (TE-2-3-69F3) —
7 vessel wall above bottom head (TE-2-3-69H1) —
2 vessel wall abeve bottom head (TE-2-3-60H2) —
9 vessel wall above bottom head (TE-2-3-69H3) o]
10 | retum air drywell cooler (TE-16-114A) —
11 | retum air drywell cooler (TE-16-114B) o]
12 | retum air drywell cooler (TE-16-114C) o]
13 | retum air drywell cooler (TE-16-114D) —
14 | retum air drywell cooler (TE-16-114E) o]
15 | supply air D/W cooler(TE-16-114F#1) —
16 | supply air D/W cooler(TE-16-114G#1) o]
17 | supply air D/W cooler(TE-16-114H#2) O
12 | supply air D/W cooler(TE-16-114J%1) (0]
19 | supply air D/W cooler(TE-16-114K#2) O
20 | PCV iSEH(TE-16-114W#1) HEFH
21 | PCV B F(TE-16-114W%2) WEFH
2 RPV i& Af(TE-2-3-69R) O
23 PCV {8 FE(TE-16-007) (o]
24 PCV & [ (TE-16-008) O
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